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1p 5 ‘…accidentally sat on his phone & rang 999.’ (alinea 2) 
 Welke term die hetzelfde betekent, wordt in de tekst gebruikt? 
Citeer (= schrijf over uit de tekst) die term. 
 
 

Tekst 3  Medieval tunnel  
 

1p 6 What becomes clear in paragraph 1? 
A A group of workers came across something quite unforeseen. 
B A researcher stumbled upon a hidden entrance to a historic location. 
C An ancient rumour about a secret underpass turned out to be true. 
D An inspection of an old monastery caused quite some commotion. 
 

1p 7 How is paragraph 2 linked to the discovery introduced in paragraph 1? 
A Paragraph 2 describes the emotional impact of the discovery. 
B Paragraph 2 explains why the discovery drew a lot of attention. 
C Paragraph 2 highlights the historical significance of the discovery. 
D Paragraph 2 presents the facts of the discovery in more detail. 
 

1p 8 In welke zin uit alinea 3 blijkt dat de tunnel is aangelegd onder een druk 
traject? 
Citeer (= schrijf over uit de tekst) de eerste twee woorden van deze zin. 
 

1p 9 What can be concluded about the tunnel from paragraph 4? 
A It is expected to become a tourist attraction. 
B It is still unclear when or why it was built. 
C It proves that people used to be a lot shorter. 
D It seems to be damaged beyond repair. 
 
 

Tekst 4  Brazil announces equal pay … 
 

2p 10 Geef aan of de volgende beweringen overeenkomen met alinea 1. 
Omcirkel ‘wel’ of ‘niet’ achter elk nummer in de uitwerkbijlage. 
1 Het Braziliaanse vrouwenelftal is het eerste nationale elftal dat 

evenveel betaald krijgt als het mannenelftal. 
2 Noorwegen vindt dat andere landen verplicht moeten worden om hun 

mannen- en vrouwenelftallen evenveel te betalen. 
3 De vrouwen van het Amerikaanse elftal werken er nog aan om 

evenveel betaald te krijgen als het mannenelftal. 
 

1p 11 What is the function of paragraph 2? 
A to explain the consequences of the change in pay 
B to illustrate how the change in pay was received 
C to show why the change in pay was inevitable 



 
GT-0071-a-24-1-o 4 / 9 lees verder ►►►

1p 12 Kies bij    12    in alinea 4 het juiste antwoord uit de gegeven 
mogelijkheden. 
A a highly controversial step on the way to 
B demanded by other nations in favour of 
C part of the journey of transformation towards 
 

1p 13 Kies bij    13    in alinea 5 het juiste antwoord uit de gegeven 
mogelijkheden. 
A Consequently 
B However 
C In addition 
D In conclusion 
E Therefore 
 

1p 14 Wat moet het voorbeeld van de salarissen van Lionel Messi en Cristiano 
Ronaldo (alinea 5) duidelijk maken?  
Geef antwoord in het Nederlands. 
 
 

Tekst 5  Whistled Language Echoes Around This Island 
 

1p 15 What can be concluded about the whistling language of the Canary 
Islands from paragraph 1? 
A It is sometimes used to keep tourists away from certain places. 
B It was created to transmit secret messages among farmers. 
C Its days as a practical form of communication seem to be over. 
D Its effectivity is decreasing because of changes in the landscape. 
 

2p 16 ‘Mr. Márquez is a proud guardian of La Gomera’s whistling language’ 
(alinea 2) 
 In welke twee andere alinea’s wordt duidelijk dat er bewust moeite 

wordt gedaan om de taal te behouden voor de toekomst? 
Noteer de nummers van deze twee alinea’s. 
 

1p 17 Why does Mr. Márquez compare the whistling language with poetry 
(paragraph 2)? 
A to emphasise that you need both skill and talent to master it 
B to explain why it takes time before you can fully understand it 
C to give details about how it developed into its present form 
D to stress that it is a form of art that may lack practical purposes 
 

1p 18 Kies bij    18    in alinea 3 het juiste antwoord uit de gegeven 
mogelijkheden. 
A clever population 
B distinct geography 
C farming traditions 
D unstable climate 


